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Bild 118. Stromlaufplan des
25-Walt-Verstirkers V 69.



R, =250 kQ
R, = 250 kQ
Ry = 250 kQ
R, = 250 kQ
Ry = 500 kQ
Ry = 500 k2
R, =500Q

Ry =900 2

Rig = 900 2

Ry =1MQ
R, = 300 kQ2
R13 = 300 k2
Ryy = 300 k22
R,s = 300 kQ
Ryg = 1k
Ry = 1kQ
Ryg = 100 2
Ry = 100 Q
Rzo = 5 k82

Ry = 5 k0
Ry = 100 k02
Rog = 100 kQ
Ry = 100 Q
Ros = 50 Q
Rag = 10 k02
Rgy = 10 kQ
Rog = 10 kQ
Rog = 6 kO
Rso = 28 kQ2

30 2
30 2
28 k@2
50 kQ

5 k2
1k02
5k0
5k

1 uF

Co =1uF
Cy = 10 pF
Cs = 1nF
Cg = 50 nF
C7 = 50 nF
Cg =1uF
Co =1 uF
Clo = 10 nF
Cyy = 10 nF

012 = 16 .uF
C13 = 16 .uF
014 =1 ‘uF
Cig=1uF
Cig =4 uF
017 = 0,1 yF



